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corr_Adet_evMon0 RMS
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1D pull distribution
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(ppm)

corr_Adet_evMon2 RMS
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corr_Adet_evMon3 RMS
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1D pull distribution
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Std Dev  0.8306 + 0.07992

Mean
Underflow
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corr_Adet_evMon5 RMS
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(ppm)

corr_Adet_evMon6 RMS
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1D pull distribution
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Overflow
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corr_Adet_evMon9 RMS
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1D pull distribution
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1D pull distribution

X2 / ndf

p

(Ppb)

corr_Adet_evMonl11l

& © o o © < I )
& ] > ¢ & g
s 8 S s 3 9 ©
5 = . B ]
<} ® pa) ) @ 1
<] =4 ? 1 ©
= i
: 2 3 s & ]
< o 5] <] 2 kot c m — <
g 3 2 2 3 5 g > 3
= 7] =} [e] =< o = (7]
N
\ — o
Ry
[ e b b by by by by b by n by 07
P
< [<) © © < N o 3 © < o~ [S)
N Y — — - — =1
[ ——— —
— —
M << ————
O
—© o4 ° ]
Moo ———
——
_.O.+_ "
————
43 —_—— —
o H—— —
2 ——— —_
| ——— —
——— —

-100—



(ppm)

corr_Adet_evMonll RMS
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lagr_asym_us_avg (ppb)

X2 7 ndf 63.33 /53
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1D pull distribution
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Std Dev 1.083 + 0.1042
10 — Underflow 0
Overflow 0
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1D pull distribution
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Mean
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